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SECTION Il { 50 mks)Answer any five guestions

17.a) Using a ruler and compasses onlg construct triangle PQR in which QR=8cm,
angle PQR=30" and angle PRQ=45 (3mks)

b)Measure PQ and PR (2mks)
c) At A drop a perpendicular to meet QR at D. (1mk}

d) Measure AD and hence calculate the area of triangle ABC. (3mks)
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18.A trader bought some eggs at shs.64 per dozen and sold two-thirds of them at
shs.240 per tray and the other one-third at shs.225 per tray. In so doing, she
made a profit if shs.450. Given that one tray holds 30 eggs, determine;-

a) The number of eggs she bought.
(4mks)

b) The percentage profit she made.
(3mks)

¢) The percentage profit she would have made if she sold all the eggs at shs.240 per
tray.
(3mks)
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19. A field was surveyed and its measurements recorded in a field book as shown
below.

100
E 40 80
60 D 50
C 40 40
20 B 30

AF=100 m

(a) Using a scale of 1cm to represent 10m, draw a map of the field.(4mks)
(b) Calculate the area of the field.

(i) in square metres. (4mks)
(ii) in hectares. (2mks)
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20.A trader sold an article at sh.4800 after allowing his customer a 12% discount on
the marked price of the article. In so doing he made a profit of 45% .

a) Calculate
0] the marked price of the article.
(3 marks)

(ii) the price at which the trader had bought the article (2 marks)

b) If the trader had sold the same article without giving a discount. Calculate the
percentage profit he would have made. (3 marks)

¢) To clear his stock, the trader decided to sell the remaining articles at a loss of
12.5% (Calculate the price at which he sold each article.
(2 marks)
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22 Three businessmen Wenger, Fergusson and Roonie contributed shs.160,000,
$hs.200,000 and shs.240,000 respectively and started a business. They agreed
that 30% of the profit each year will go to expenses, 15% of the reminder would
go back to the business. The rest of the profit would be shared in the ratio of their
contribution. At the end of the first year, the business realized a profit of
kshs.60,000.

Calculate how much:

(a) (i) Wenger received (2 mks)

(if) Fergusson received ( 2 mks)

(iiiy Ronnie received (2 mks)

(b) Express what Fergusson received as a percentage of the total profit ( 4mks)
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23.Four ships are at sea such that a streamliner S is 150km on a bearing of 025°
from a cargo ship C. A trawler T is 300km on a bearing of 145° from the cargo
ship and a yacht Y is due West of C and on a bearing of 300° from T.

a) Using a scale of 1cm= 50km, draw on accurate scale drawing showing the
positions of S, C, T and Y ( 6 mks)

b) By measurement from your scale drawing determine:

i) The bearing of Y from S (1mks)
i) The distance ST (1 mks)
iii) The distance YT (1 mks)

a).
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SECTION | ( 50 Marks)

1. Evaluate ( 3 mks)

—8+24+12Xx9—-4x%x6
56 -7%x2

2. Solve the simultaneous equations ( 3 mks)
4x-3y=14
3x+y=4

3. Given that p=4,q=1 andr=-3, evaluate (4 mks)
2pqr? + pqr — pr
4qr — 2pr — 2pqr
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4. Abookshop owner bought 12 dozen exercise books at sh 80 per dozen and sold
all of them at sh 10 for each exercise book. Find the percentage profit made.( 3
mks)

5. Evaluate; (4 mks)

3 5.7 2
§0f30+5€-.—ﬁ—2'§xl

5.7 5 4 4.7
§X16—10f4§+2§+m

N =

5

6. Convert the recurring decimal 12.18 into fraction in its simplest form. ( 3 mks)
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2x + 40

a x-25

In the figure above, angle a is half the sum of the other angles. Evaluate the
angles of the triangle (3 mks)

8. Using a set square, ruler and pair of compass, divide the given line into 5 equal
portions. (3mks)

|
! I
A B

9. Four machines give out signals at intervals of 24, 27, 30 and 50 seconds
respectively. At 5.00pm all the four machines give out a signal simultaneously.
Find the time this will happen again. (3mks)
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10.The figure below shows a solid regular tetrapack of sides 6 cm. ( 4 mks)

“Gem Gem

B 6em C

(a) Draw a net of the solid

(b) Find the surface area of the solid
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11.A tourist arrived in Kenya with sterling pound (£) 4680 all of which he exchanged
into Kenyan money. He spent Ksh. 51,790 while in Kenya and converted the rest
of the money into U.S dollars. Calculate the amount he received in U.S dollars.
The exchange rates were as follows. (4mks)

Buying Selling.
uss 85.20 89.10

Sterling Pound (£) 133.40 141.80

12.All prime numbers less than ten are arranged in descending order to form a
number

(a) Write down the number formed

{b) What is the total value of the second digit? (3 marks)

13. A vegetable render had 1348 cabbages. He sold 750 on the first day and 240 on
the second day. He added 462 to the remaining stock on the third day.

a) How many cabbages did he have at the end. (2mks)
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b) If he sold all cabbages at an average cost of sh.12 how much money did he
collect? (2mks)

14. Wirite the following numbers in standard form; ( 2 mks)

a) 0.000000152

b) 4,698,700

15.Work out the following products, giving your answer as product of prime factor in
power form.

a)480x 175 (1mk)

b) 189 x 189 (1mk)

16.The sum of interior angles of a regular polygon is 1620°. Calculate the number
of sides of the polygon. ( 2 mks)




